WB-1055
AVANI Welding Booth
WB-1055
AVANI Welding Booth

[image: image21.jpg]CE € on





Submittal Dimensions (in mm/inches)


[image: image2.wmf]WB-1055 SIMPLE WELDING BOOTH SPECIFICATIONS

- Adjustable Level System: (4) 1.6" Feet

- Panel Construction: 11-gauge welded steel

- Welding Curtain Supports: (1) set welding curtain bar

- Fume Arm Supports & Brackets: (1) bracket (6 bolt pattern) 

to match optional dia. 6" fume arm

- Powder Coated: Oskar Safety Blue Standard (custom colors 

available)

- Three Piece Configuration: (2) side panels, (1) back panel.

- Booths can be mounted back-to-back, side-to-side or both 

options

***Adjustable Back Shelve: 60"W x 20"D x 1.1"H (solid with 

2" hole drilled)


Assembly Procedure

[image: image3.png]



[image: image4.png]



[image: image5.png]



[image: image6.png]



[image: image7.png]



[image: image8.jpg]



[image: image9.png]



[image: image10.png]



[image: image11.png]



[image: image12.png]



[image: image13.png]



[image: image14.jpg]



Assembly Hardware


[image: image15.wmf]
Repair Parts List

Repair Parts List for Welding Booth
	Reference Number
	Description
	Part Number
	Quantity

	1
	Hex Screw (5/16"*3")
	AVANI-WB-5x5S-1
	4

	2
	Flat Washer (5/16"*OD23*2t)
	AVANI-WB-5x5S-2
	4

	3
	Back Panel
	AVANI-WB-5x5S-3
	1

	4
	Side Panel
	AVANI-WB-5x5S-4
	2

	5
	Adjustable Feet
	AVANI-WB-5x5S-5
	4

	6
	Table
	AVANI-WB-5x5S-6
	1

	7
	Hex Screw (5/16"*3/4")
	AVANI-WB-5x5S-7
	8

	8
	Flat Washer (5/16"*OD18*2t)
	AVANI-WB-5x5S-8
	8

	9
	Knob (5/16"*3/4")
	AVANI-WB-5x5S-9
	1

	10
	Curtain Bar (short)
	AVANI-WB-5x5S-10
	1

	11
	Curtain Bar (long)
	AVANI-WB-5x5S-11
	1

	12
	Hex Screw (5/16"*3/4")
	AVANI-WB-5x5S-12
	2

	13
	Flat Washer (5/16"*OD23*2t)
	AVANI-WB-5x5S-13
	2

	14
	Hex Screw (5/16"*3/4")
	AVANI-WB-5x5S-14
	4

	15
	Flat Washer (5/16"*OD23*2t)
	AVANI-WB-5x5S-15
	4

	16
	Arm Support
	AVANI-WB-5x5S-16
	1

	17
	Hex Screw (5/16"*1")
	AVANI-WB-5x5S-17
	4

	18
	Flat Washer (5/16"*OD23*2t)
	AVANI-WB-5x5S-18
	8

	19
	Hex Nut (5/16")
	AVANI-WB-5x5S-19
	4


Please read and save these instructions. Read carefully before attempting to assemble, install, operate or maintain the product described. Protect yourself and others by observing all safety information. Failure to comply with instructions could result in personal injury and/or property damage! Retain instructions for future reference.
 [image: image17.png]A

avani

environmental




[image: image1.jpg]


SMT-110106
6
[image: image16.png]A

avani

environmental





[image: image16.png][image: image17.png][image: image18.png]A

avani

environmental



[image: image19.png]A

avani

environmental



[image: image20.png]A

avani

environmental



_1357137253.dwg

_1357130920.dwg

